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QUESTION 1

Currently a service provider provides IPv4 traceroute services between MPLS PE routers. The provider wants to
implement IPv6 with MPLS 6PE/6VPE and then provide parallel IPv6 traceroute services between MPLS PE routers.
Which two design solutions provide this service? (Choose two.) 

A. The P routers must support ICMPv6. 

B. The PE routers must support ICMPv6. 

C. The P routers must support full IPv6. 

D. The PE routers must support full IPv6. 

Correct Answer: BD 

 

QUESTION 2

Which mechanism can you use to improve network performance over PPPoE, IPsec, and GRE networks? 

A. Path MTU Discovery 

B. Simple Service Discovery Protocol 

C. ICMP Router Discovery Protocol 

D. Bidirectional Forwarding Detection 

Correct Answer: A 

 

QUESTION 3

Three routers in a single broadcast domain are connected by means of a standard Ethernet switch. The only Layer 2
protocol running on this link is Spanning Tree Protocol. The only Layer 3 protocol running on this link is EIGRP, which
uses a standard configuration. Then, one of the three routers is manually shut down. How will the other two routers
discover the loss of this neighbor? 

A. The line protocol on the remaining two routers will be brought down as soon as the carrier is lost from the switch. 

B. The switch will bring down the carrier on all ports momentarily to force all the routers connected to the link to relearn
their neighbors. 

C. The EIGRP dead timers will expire due to the absence of EIGRP traffic. 

D. The switch will send a reverse ARP when the router disconnects from the switch. 

Correct Answer: C 

 

QUESTION 4
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What is the purpose of dynamically created tunnels using IPv6 multicast? 

A. multicast source registration to the RP 

B. bypass of the RPF check to the RP 

C. transport of all IPv6 multicast traffic to the RP 

D. first-hop router registration to the RP 

Correct Answer: D 

 

QUESTION 5

What is the function of the Community String field defined in a trap PDU? 

A. enable the routing of messages 

B. allow authentication by management station 

C. enable reliable delivery of messages 

D. isolate the PDU within a defined region of the network 

Correct Answer: B 
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